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Abstract

We study an optimal control problem for a simple transportation model on a
path graph. We give a closed form solution for the optimal controller, which can
also account for planned disturbances using feed-forward. The optimal controller
is highly structured, which allows the controller to be implemented using only
local communication, conducted through two sweeps through the graph.

1 Introduction

In this paper we study a simple Linear Quadratic control transportation problem on a
network. Such problems have well known solutions based on the Riccati equation [?].
This gives a static feedback law

u=Kx,

where u is the input to the system, x is the state of the system and K is a matrix with real
entries. This matrix is in general dense. This is undesirable in large-scale problems,
since it implies that measurements from the entire network are required to compute the
optimal inputs at every node. Furthermore a centralized coordinator with knowledge of
the entire system is required to determine the matrix K, and a complete redesign will
be required in response to any changes in the network.

These factors have led to the development of a range of general purpose methods for
structured control system design. Some notable themes include the notion of Quadratic
Invariance [1, 2], System Level Synthesis [3], and the use of large-scale optimization
techniques (e.g. [4]). A downside with these approaches is that they improve scalability
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at the expense of performance. That is they search over families of controllers that
exclude the dense optimal controller for (2). While in comparison with the alternative
this may be an acceptable trade-off, it implicitly assumes that just because the feedback
law is dense, it cannot be efficiently implemented.

The main result of this paper is to show that the simple structure in our problem al-
lows the optimal control law to be computed and implemented in a simple and scalable
manner. The resulting control actions are the same as those from a Riccati approach,
and could in principle be calculated that way. However, there are extra structural fea-
tures in the control law that are obscured by the resulting dense feedback matrix repre-
sentation, and it is not obvious how to exploit these to give a scalable implementation
from the gain matrix obtained from the Riccati equation.

1.1 Problem Formulation

We consider the problem of transportation and production of goods on a directed path
graph with vertices vi,vy,...,vy and directed edges (eny,en—1),..-,(e2,e1). The dy-
namics are given by

Zilt + 1] = zilt] —wi [t] + wi[t — T+ vilt] + dit]. (1)

All the variables are considered to be defined relative to some equilibrium. In the
above z;[t] € R is the quantity in node i at time 7. The system can be controlled using
the variables u;[f] € R and v;t] € R. The variable u;[t] denotes the amount of the
quantity that is transported from node i + 1 to node i (again relative to some equilibrium
flows), and the transportation takes 7; time units. For the last node N it is assumed that
un[t] = 0 for all z. The variable v;[t] denotes the flexible production or consumption of
the quantity at the ith node. Finally d;[¢] € R is the fixed production/consumption at
the ith node. This will be treated like a forecast, or planned disturbance, that is known
to the designer, but cannot be changed. This model could for instance describe a water
irrigation network [5] or a simple supply chain system [6]. A state-space representation
for (1) can be obtained by setting z;[t], u;[f — 6], 1 < § < 1; to equal the system state.
The goal is to optimally operate this network around some equilibrium point. The
performance is measured by the cost of deviating from the equilibrium levels qiz% and
the cost of the variable production rivl~2, where g and r are strictly positive constants.
We thus consider the following linear quadratic control problem on a graph with N
nodes,
o N
minimize Y'Y’ (gizi 1) + rivilt]?)
LY t=0i=1 2
subject to  dynamics in (1)
Z [0} ,d; [l ]
Note that there is no penalty on the internal flows u;. This can for example be motivated
by the transportation costs already being covered by the costs of the nominal flows (or
in the case of water irrigation networks that gravity does the moving). This problem is
in effect a dynamic extension of the types of scheduling problems considered in trans-
portation networks [7], and could be used to compliment such approaches by optimally
adjusting a nominal schedule in real time using the feedback principle.
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Figure 1: Example of the effect of feed forward. The graph has five nodes and transportation
delay 7y = 3, 7p =2, 13 =5 and 74 = 4. There is a disturbance in node three from time 10 to
13 and in node 2 from time 12 to 15. We can see that the feed-forward manages to handle the
disturbances better by spreading out their effect throughout the graph. To quantify the difference
one can consider the cost in (2), which is 3.11 with feed-forward and 11.35 without feed-forward.

A similar problem has been studied in a previous paper [8]. However we give sev-
eral important extensions, in that we allow for non-homogeneous delays, production
in every node and optimal feed-forward for planned disturbances. Allowing for non
homogeneous delays is important as that will be the case for almost all applications.
Taking planned disturbances into account allows for increased performance whenever
such disturbances can be forecast. Finally, allowing for some variation in the consump-
tion v; for each node will also generally increase performance whenever such variation
is possible. The effect the feed-forward of planned disturbances can have on the con-
troller performance is illustrated in Figure 1, where we see that the controller with
feed-forward anticipates the action of the disturbances, allowing the effect to be better
spread through the graph and the node levels to be more tightly regulated. This results
in a significant improvement in performance.

1.2 Result Preview

The key structural feature that we identify in the optimal control law for (2) is that
optimal inputs can be computed recursively by two sweeps through the graph (even
though the control law that would be obtained from the Riccati equation would be
dense). More specifically, two intermediate variables local to the ith node &;[t] and
L;[t] can be computed recursively through relationships on the form

Oi[t] = f(local_variables, §;_1),
ui[t] = g(local_variables, t; 1),



from which the optimal inputs u;[t] and v;[¢] can be calculated based only on local vari-
ables. Conceptually this step is rather similar to solving a sparse system of equations
with the structure of a directed path graph using back substitution.

The details are given in Algorithm 2, and this process is illustrated in Figure 2. This
allows the optimal inputs to be computed by sweeping once through the graph from the
first node to the final node to compute the &’s, and once from the final node to the first
to compute the pt’s. Both sweeps can be conducted in parallel. This represents a sort of
middle ground between centralised control and decentralised control, in which global
optimality is preserved whilst only requiring distributed communication. The price for
this is that the sweep through the whole graph must be completed before the inputs
can be applied, but for systems with reasonably long sample times (which is likely true
in transportation or irrigation systems) this seems a modest price to pay. Interestingly
the controller parameters can be computed in a similar distributed manner, allowing
the controller to also be synthesised in a simple and scalable manner. This is shown in
Algorithm 1.

2 Results

In this section we present two algorithms that together allow for the solution of (2). The
first of these algorithms computes the parameters of a highly structured control law for
solving (2), whereas the second shows that the control law has a simple distributed
implementation. These features will be discussed in Section 3. In this section we will
demonstrate that under suitable assumptions on the planned disturbances d;[f], Algo-
rithms 1 and 2 give the optimal solution to (2) . This constitutes the main theoretical
contribution of the paper.

In the absence of the planned disturbances (i.e. with d;[t] = 0), (2) is an infinite
horizon LQ problem in standard form. It is of course highly desirable in applications
to be able to include information about upcoming disturbances in the synthesis of the
control law. However if we are given an infinite horizon of disturbances, (2) is no longer
tractable. For the theoretical perspective, it turns out that the suitable assumption on
the horizon length is as follows:

Assumption 1. Let the aggregate delay oy in (1) be

k-1
o= T
i=1

Given a horizon length H > 0, assume that d;[t] = 0 for all t > H + (on — 0;) and for
all1 <i<N.

Observe that if d;[t] = 0 for all # > H then Assumption 1 holds. Thus the assump-
tion captures the natural notion of having a finite horizon H of information about the
disturbances d;[t] available when constructing the control input. In Section 4 we will
investigate how the length of the horizon affects the performance of the controller.

We will now state the main results of this paper. The following theorem shows
that (2) can be solved by running two simple algorithms; one for calculating all the



necessary parameters, and one for computing the optimal inputs. Both algorithms can
be implemented using only local communication as discussed in Section 3. A graphical
illustration of the implementation of Algorithm 2, which is the algorithm used for the
on-line implementation, can be found in Figure 2.

Theorem 1. Let )
Dilt] =) djlt—oj).
J=1

Assume that H and d,[t] satisfy Assumption 1. Then the optimal inputs u;[t] and v;[t]
for the problem in (2) are given by running Algorithm 2 with the parameters calculated
by Algorithm 1.

Proof. See the appendix. A sketch of the proof can be found in Section 5. O

Remark 1. In most cases the choice of H can be made without considering its effect
on the controller implementation, and can instead be chosen based only on the nodes’
ability to forecast their disturbances. In applications it would also be natural to incor-
porate new information on upcoming disturbances in a receding horizon fashion. This
will be further discussed in Section 3.2. O

Remark 2. There is an asymmetry in Assumption 1 in that (oy — 0;) grows as i de-
creases from N to 1. This means that this assumption allows nodes further down the
graph to have longer horizons of planned disturbances. Of course there is no reason
to believe that these nodes are better at predicting their disturbances. It is just that
the derived theory can handle those disturbances in a straightforward manner since
the optimal controller lumps the disturbances into time shifted sums, with a time shift
proportional to G;. O

3 Implementation

In this section we will discuss the structure in Algorithms 1 and 2, and explain how
they can be used to implement an optimal feedback control law for solving (2) in a
distributed manner. In both cases the order in which the computations occur is highly
structured. This is illustrated for Algorithm 2, which is the algorithm that must be run
to compute the control inputs, in Figure 2. Matlab code for using these algorithms to
calculate the optimal control inputs is available at github', as well as code to verify that
Theorem 1 holds numerically. We will also discuss how to calculate D; and incorporate
updates to the planned disturbances in a receding horizon style in Algorithm 3.

3.1 Algorithms 1 and 2, and the Optimal Control Law

The problem in (2) is at its heart an LQ problem, and the optimal controller is given by
a static feedback law. The corresponding feedback matrix is generally dense, and that
is the case for (2) as well. However certain special structural features of the process
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Algorithm 1: Computation of control parameters.

B W N =

W

10

11

12
13
14

15

16

17
18

19
20
21
22
23
24

25

26

27

Input: ¢;, i, 7;, H

Output: ¥, gi(/).

Pi(%i, 1), hi» 9i(A), ais ci

/* First Sweep, upstream direction =/
P1=n
send 7 and p; to upstream neighbor
for node i = 2:N do

N =4q1,

¥ =

end

Yie

19i

Yi—

1+4i° pl
send 7¥; and p; to upstream neighbor

—17i
pl 1+ri

// initialize first node

/* Second Sweep Downstream direction x/

2
~B -\ wov+

XvH+2)=
for node i = N:1 do

piXit1(D+%)
Xir1(D+y+pi

Xi() =

Xi(t—1)=
gi(i) =
giv1(1) =
bi = gir1(DI1_5 &)

send X;(7;), b; to downstream neighbor.
// for 1<Im<7;

P(1,m) =
Pi(l,m) =
Pi(lm) = (1 -

pi(Xi(t)+%)
Xi()+v+pi’

Xi(i)

Xi(i)+n’

Xt+l(]

2<i<
)

X+1( )+

Xi(1)

i

_ X
(1 Pi

Xi({) VP(1—1,m) + Xi(0)

p@i)’

(DNP(] — Xi())
)gl(l)PI(l lam)+ p(i) ’

// Not for node N

// 1<t—1<71—1 or for i =N, 1<t—1<H+1

/+ Third Sweep, upstream direction =/

hi = Pi(11,71)g2(1)
send 7 to upstream neighbor.

for node i= 2:N-1 do
hi = (1—
send /; to upstream neighbor.

end

Pi(7,1))bihi—1 + P(7,7)gi+1(1)

/* Some final local Calculations =/
// For 1<A<Tt, Empty Product, Hi-,z =

$i(A) = (1
ai:;&ﬁl4,ﬁ(14,

ri

qi

—P,'(’L',',A) (1_ (Tla )) i— IH
)

= (20" st

1

A+1
j=28k\J

()




[#]
N0
B

|

N

N
~

|
D

)
B
O

<
[
=
|
—

\
()i
l/
g
2O

[}

B
@\
3]

O

5
|

~ )
e I |
RS
~
|
)

N

oo
s
T

’

Figure 2: Illustration of the structured approach for calculating the optimal inputs using Algo-
rithm 2, for a 5 node example with 71 =2, 75 =1, 73 = 1, 74 = 2. The graph at the right of
the figure illustrates the underlying dynamics of the network as in (1). The left part of the figure
illustrates the structure of the computations required to compute the optimal control according
to Algorithm 2. The solid circles corresponds to node states and dashed circles the quanti-
ties in transit. The number in each dashed circle denotes the value of A, which then maps to
uy [t — (7 — A)]. The rectangles indicates the different intermediate calculations needed to deter-
mine the variables required to compute the optimal inputs (lines 2-3 and 7-8 in Algorithm 2).
These are horizontally aligned with the location in the network where they could be locally per-
formed. The arrows indicate information flow. Each intermediate can be calculated using only
the quantities from the incoming arrows. An upstream sweep is performed (the red arrows) in
order to calculate the variables &;[¢]. The local intermediate ®; [¢] variables are calculated (line 2),
and then aggregated into the &;[f]’s (line 3), which are sequentially passed up the graph. For the
downstream sweep the local m;[¢] variables are calculated (line 7) and aggregated into the w;[t]’s
(line 8). Both sweeps can be conducted in parallel, and once they have completed, the optimal
inputs for the ith node can be determined using the variables at the ith location according to lines
11 and 12 in Algorithm 2.
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Algorithm 2: Distributed Controller Implementation.
Input: Z,’[l], ui[t — ("L',' — A)], d,'[l], Di[l + O; -I-A]
Output: u;[t],v;[f]
// Let ty=H+1.
/* Upstream sweep - Done in parallel with downstream sweep */
1 for node i = 1:N do
2| Difr] = ¢;(1)zift]+
E500 A+ 1) (i = (5~ A)] + Dyl + 07+ 4]
§ilt] = @ift] + (1 — Pi(1;,1)) 81 [1]
send &;[f] upstream

/% Downstream sweep — Done in parallel with upstream sweep =/

6 for node i = N:1 do
// Empty Product, Hjl-:z =1
7| ml] =zl + £5g (il — (5= )]+ Dilt+ 0+ A)) T )
8 | Wilt] = mft] + biptita [1]
9 | send ;[t] downstream
10 end

/+ Calculate outputs =/
11 u; [t] = ( — %) (Zi[l] +ui[t - T,’] +D,‘[l‘+ G,'])
—a; 61 [t] + cip[t] + dift] — Dilt + o]
2 wlr] = =50 (&4 1)+ (1= ki)l

Ti

(1) are inherited by the optimal control law. It is these features we exploit to give a
scalable implementation in Algorithms 1 and 2, which we will now discuss.

In terms of the algorithm variables, the optimal node production v;[¢] for (2) is given
by
Xi(1)

Ti

V,’[l} = —

(5i—1[l]+(1 —hi—l).ui[t])7 3)
and the optimal internal flows ;[f] are given by

w1 [ = (1= 2 (@l + wle — ) + Dilt + 1)) — a1 [t

i

+ Ci[,L,'[l] +di[l] — D,’[l + Gi]. @

The parameters in these control laws (the symbols without a time index, which
includes X;(1)) are calculated in a simple and structured manner by Algorithm 1. Of
course having an efficient method for computing the control law is less critical than
having an efficient real time implementation of the control law (which is performed
by Algorithm 2), since the control law can be computed ahead of time. However the
fact that this step is also highly structured indicates that the approach is scalable, since



it allows for the the control law to be simply and efficiently updated in response to
changes to the dynamics in (1) (perhaps resulting from the introduction of more nodes).

Algorithm 1 computes all the parameters needed to give a closed form solution for
the problem in (2). The origin of the parameters in Algorithm 1 are discussed briefly in
the proof idea in Section 5 and full details are found in the proof in the appendix. The
algorithm consists of three serial sweeps. The first sweep starts at node 1 and calculates
¥; and p;. The second sweep starts at node N, and calculates X;(7) The calculation of
X;(7) has both local steps (line 10) and steps that requires communication (line 9).
Also during the second sweep, the parameters g, b and P are calculated locally. The
third sweep starts at node 1 again, and calculates the parameter 4, which is needed to
calculate the optimal production. Finally, after the third sweep, the parameters ¢;(A),
a; and ¢; are calculated in each node independently.

The real time implementation of the optimal control law also has a simple dis-
tributed implementation. This is the role of Algorithm 2, and the structure of the im-
plementation is illustrated in Figure 2. The algorithm proceeds through two sweeps
through the graph. These sweeps are independent of one another, and can be con-
ducted in parallel. In the upstream sweep (from node 1 to node N), a set of local vari-
ables (®;[t] and §;[t]) are computed according to lines 2-3. This is done sequentially,
since the computation of &;[¢] depends on J;_;[t]. §;—1[¢] then gives all the information
node i needs from downstream nodes. Similarly the downstream sweep sequentially
computes the 7;[t] and y;[¢] variables. Here y;[¢] gives all the information needed from
nodes upstream of node i. Once these two sweeps are completed, the optimal inputs
can be calculated locally using lines 11 and 12.

3.2 Receding Horizon and Calculation of D;t|

We will now discuss how to implement the controller in a receding horizon style to
account for updates and new information about the planned disturbances d;[t]. In terms
of both the optimal control problem in (2) and the controller implementation in Algo-
rithm 2, the planned disturbances are treated as fixed quantities, that are known up to
some horizon length H into the future (and equal to zero thereafter, c.f. Assumption 1).
The idea is that d;[t] determines the anticipated consumption of the quantity at node i
and time ¢. Having this information available ahead of time allows the optimal control
law to anticipate the predicated usage, and optimally ’schedule’ the transportation of
the quantity through the network. As we will see in the examples this can lead to a
significant improvement in performance. However, in practice we would want to up-
date the values of the d;[t]’s as time passes, and more up to date information becomes
available.

A natural way to do this is to use a receding horizon approach. In this setting we
assume that at each point in time, we essentially have a fresh problem, with a new set of
planned disturbances. Algorithm 2 can then be used to compute the first optimal input
for this problem, after which the problem resets, and we get a new horizon of planned
disturbances. This ensures we always make the best action available to us with a given
horizon of information about the disturbances. The question is then, how to efficiently
update the part of the control law that depends on the planned disturbances.



e Dift+1]

N
S
[ ] \\ \\\‘\ [ ] \:\\ \\\\ .: Dz[t+2]

~ ~
) e Ns. TN ey Dot +3]
~ & - 7’
\\\ \\\\ \\\/
<O
° o "\ Ny e Dift+4]
\\\ \\\l\
° ° v o Difr+3]

Figure 3: Illustration for the terms included in D;]¢] for a three node graph with 7y = 7 = 2. The
first row of dots corresponds to z3[t], z2[f], z;[t] and the second corresponds to z3[t + 1], z2[t +
1], z1 [ + 1], and so on. Due to lack of space only d;[¢] and d;[t + 1] has been drawn. However, the
pattern follows through the graph. From the figure we can see that D[t + 3] = D[t + 3] — da [t],
corresponding to the first part of Algorithm 3.

The changes required to accommodate this are rather minor. The planned distur-
bances do not affect the control parameters or the distributed structure of the implemen-
tation of the control law. To see this, observe from Algorithms 1 and 2 that all of the
information about the planned disturbances is handled through the variables D;[f] de-
fined in Theorem 1. An illustration of the relationship between individual disturbance
d; and shifted disturbance vectors D;[t] can be found in Figure 3. Thus the structure
of the implementation of the control law remains the same, and only D;[¢] needs to be
updated as new information become available. This can be done efficiently by a sweep
starting at the bottom of the graph. After all, although in the receding horizon frame-
work we assume we have a ‘new’ set of planned disturbances at each point in time,
these will share a large amount of information with the planned disturbances from the
previous time step. This is the role of Algorithm 3, which we now explain.

All the Dj[t]’s where none of the underlying d;[f] were changed can easily be up-
dated. For 1 < A < 7; — 1 the information in D;[t + o0; + A] will be useful in node i at
the next time step as

Dit+140;,+A—1]=Di[t+0;+ A
When A = 0 the information can be used at the downstream neighbor as D; satisfies
Di_l[l‘—l— 1+o0;— 1] = D,’[I—f—O','] —d,‘[l‘}.

These updates can be done in all nodes simultaneously and the time it takes is thus
independent of the size of the graph.

However, the shifted sums D; has to be initialized at time zero, and also updated
when new disturbances d; are planned for times ¢ > 0. D;[t] only requires information

10



Algorithm 3: Calculation of D
Input: changed d;s]
Output: updated D;

/* Update Disturbances in parallel, ¢O(l). Necessary even if there

are no new disturbances */

for node i = N:1 do
Send D;_[t + 1+ 0; — 1] = D;[t + 6;] — d;[t] downstream.
Discard D;[t + o;]

N S

/+ Update Disturbances due to new planned disturbances =/
for node i = 1:N do
/*x For t+0;<s<t+oy+H x/
if d;[s — 0] changed or D;_,[s] received then
| send D;[s] = Di_[s] +di[s — 0;] upstream
end
end

wn

L= RS Y

from downstream, and can thus be calculated by a sweep starting at node one and
going upstream. Starting at the first node, any of the d| [s], t <s <7+ oy + H that have
changed are sent to node two. Then for every node i, the aggregate D;[s], t + 0; < s <
t + on + H is sent upstream if it has changed. This will be the case if node i received
D;_1[s], t+0; < s <t+oy-+H from its downstream neighbor, or if d;[s], t < s <
oy — 0; + H has changed.

The steps for updating the disturbances are summarized in Algorithm 3. While the
algorithm is essentially a sweep through the graph in the upstream direction, it might be
best to not implement it in the upstream sweep of Algorithm 2 as then the downstream
sweep would have to be done after the upstream sweep, due to its need for the shifted
disturbance vectors. On the other hand, the calculation does not rely on measurement
from the system, and can thus be carried out either before or after Algorithm 2.

We are now ready to discuss how the choice of H affect the implementation of the
controller. Firstly, a larger H will lead to a very slight increase in the synthesis time
due to more iterations of Xy(¢) being required. Secondly increasing H will increase
the memory requirement in node N, in that it requires to store Dyt +A] for0 <A< H.
Finally the requirement for the communication bandwidth when updating D;[r] will
depend on the number of new disturbances d;[t], but is upper bounded by H if d;[t] = 0
for t > H and by H + oy if d;[t] = 0 for t > H + oy — 0;. Thus if the bandwidth is
limited, and a lot of new disturbances are expected to be planned, one might need to
limit the size of H. Otherwise it can be freely chosen based on the nodes abilities to
forecast disturbances.

11
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Figure 4: Simulations comparing the effect the planning horizon has on the performance. The
data-points with highest cost for each configuration corresponds to not using the planned distur-
bances at all. While the the rest corresponds to using all planned disturbances announced up to
H time units ahead in every node.

4 Simulations

In this section we explore the effect the feed-forward horizon has on the controller
performance through simulations. In Figure 4 the performance for different horizon
lengths is shown. Two random nodes are affected by disturbances of total size between
minus one and zero and during a time interval of length between 1 and 5. The node
level cost is given by g; = 1. The production cost is given by r; = 10N, where N is the
number of nodes. This is an attempt to keep the production cost similar for different
values of N. There are 50 simulations done for each case with random disturbances as
previously described. For all the cases when N is the same, all the disturbances are the
same for all the different horizons and delay values. The horizon lengths are the same
for all nodes, i.e it is assumed that d;[r +d] =0 ford > H.

We can see that a large part of the performance increase form having feed-forward
can be achieved for short disturbance horizons. We can also see that for larger delays,
and for more nodes, a longer horizon is needed to get the same effect. As a rule of
thumb, at least for this example, it seems like a horizon longer than 2/3 of the total
delay gives almost no effect, and even a horizon of 1/3 of the total delay gives most of
the performance increase.

5 Proof Idea

In this section we will describe the main idea behind the technique used to derive the
results, which is to study a time shifted sum of the node-levels z;, and a time shifted sum
of the production v;. This will allow the problem to be solved in terms of these shifted

12



sums, essentially reducing it to a problem with scalar variables. Outside the disturbance
horizon the problem can be solved by a Riccati equation in one variable. While inside
the disturbance horizon the problem is solved using dynamic programming, where each
step has scalar variables.

Now for the definitions of the shifted sums, let the sum of a shifted level S; and
sum of a shifted production vector V; be defined as

k k
Sk[t}:Zzi[th,-], Vk[t]:Zvi[th,'].

1 i=1

Also Let Vi [t] = Vi [t] + Dy [t] to shorten some expressions.

We illustrate the main idea by considering these shifted sums with a short example.
Consider a path graph with N > 2, 7 = 1, and 7, > 1. Then $[3] = z1[3] + z2[2]. It
can be checked that

$2[3] = z1[0] + 22[0] + V1 [0] + Vo [1] + V2 [2] + w1 [— 1] + ua [~ 1.

Note that the internal transportation u; [0] and u; [1] have canceled, and the sum is thus
independent of the internal transportation u (except those with negative time index,
which correspond to initial conditions). Also note that any values for z,[2] and z; [3] can
be achieved as long as z;[3] +z2[2] = S2([2]. This follows from that z>[2] can take any
value by choosing the appropriate value for u;[1]. Thus the cost of ¢222[2]* + q121[3]?
only depends on the value of S»[3], which is independent of all internal transportation
u;[t], t > 0. This means that all inputs except u; [1] can ignore its effect on the terms in
S2[3]. Furthermore, S,[3], and thus the corresponding cost, only depends on the sums
V;[1] and V5 [2] and not the individual productions v;[1], v{[2], v2[0] and v,[1].

This idea can be generalized. The cost function can be rewritten in terms of shifted
levels, where each shifted level sum is independent of the internal transportation. Each
shifted level can thus be minimized independently with respect to the internal trans-
portation u. Just as in the example, the only constraint is that the shifted sum has the
correct value. The optimal cost for a shifted vector Si[f] is given by the solution to

k
L 2
mmgmze ;q,z,[ + o0, — 0o} 5)
subjectto Syt +ox] =c,
where ¢ depends on the initial conditions, V;, and D;. The problem has the solution
zi[t + 6 — 6;] = % /qi - ¢ and cost y,c?, where ¥ is as given in Algorithm 1. Once the

optimal level z;[1] is calculated, the optimal value for u;_1[0] can be found from the
dynamics, which gives

Ye

13



Where my[t] = YX, (zi[f] + Y uilt — 8]). After inserting the optimal values for vy
and V; the expression in (4) is achieved. Note that all the terms with coefficient 1
corresponds to what would be in the node k at time r = 1 if u;_[0] = 0, and all terms
with coefficient — ¥, /gy gives the total quantity in Si[1].

Furthermore, each shifted level sum only depends on the shifted production sums
Vi[t], and not the individual productions v;[f], i < k. The optimal way to produce a spe-
cific amount V[¢] with a shifted production vector can be found by solving a problem
similar to (5), with the optimal v; given by v;[t — 6;] = pi/ri - Vi[t] for i <k, and the cost
given by p;V[t]?, where py is as given in Algorithm 1. So the calculations of % and p;
in the first sweep in Algorithm 1 thus corresponds to solving the optimal distribution
for a shifted level vector Sy and the optimal production for a shifted production vector
V. This is covered in Lemma 1.

Assuming all u; are picked so that the shifted levels are optimized, the total level
cost is given by

o N N N—1 Ojt1 o
Y Y gz 1]* = Y qizil0]* + Y Z%Si[t]z +Y WSy 1] (6)
1=0i=1 i=0 i=li=oi+1 t=oy+1

And assuming all v; are picked so that each shifted production vector is optimized, then
the total production cost is given by

N—10j+1—

ZZW =) Z PV + Y paValeP. %)

1=0i= i=1 t=0; t=0pn

This allows the problem in (2) to be solved in terms of V; and S;, reducing it to a
problem in scalar variables. The scalar problem can be solved analytically, giving a
closed form solution.

This is done by first solving for all Vi [¢] outside the disturbance horizon, that is for
t > oy + H. Using that outside the disturbance horizon the dynamics for the shifted
levels Sy[r] are Sy[t + 1] = Sy [t] + Viv[t] gives that those Vy[r] are given by the solution
to

minimize ZYNSN 11>+ py V)
Wil =yt H+1

subjectto  Sy[r 4 1] = Sy[t] + Vw|t].

This problem can be solved through a Riccati equation in one variable, giving expres-
sions for Vy[t], # > oy + H in terms of Sy[f]. And more importantly, a cost to go in
terms of Sy[ox + H + 1], that is Xy[H + 2] in Algorithm 1.

Each shifted sum in (6) can be expressed in terms of initial conditions, shifted
production vectors, and shifted disturbance vectors,

k—10;11-1 O +A-1
Sklokx +A] = my—1[0] + z[0 +Z Z Vild]) + Z Vi[d]
i=1 d=o; d=oy,

Using the cost to go from the Riccati equation as the terminal cost allows the rest
of the V;’s to be found analytically using dynamic programming. When solving this

14



problem the cost to go X; in Algorithm 1 is used. The parameter g also appears naturally
in the solution to each dynamic programming step, and the upstream aggregate (; in
Algorithm 2 is used to simplify the expressions. This is covered in detail in Lemma 3.

The resulting solution gives V;[¢] in terms of initial conditions and the previous V;’s
in (7). However, V;[0] is known, which gives V;[1] and so on. When rewriting V;[0] in
terms of only initial conditions the expressions can be simplified by using & as defined
in Algorithm 2. This in turn requires P, &, and ¢ which were defined in Algorithm 1
and ® which was defined in Algorithm 2. For the details see Lemma 4.

6 Conclusions and Future Work

In this paper we studied an optimal control problem on a simple transportation model.
We showed that the optimal controller is highly structured, allowing for a distributed
implementation consisting of two sweeps through the graph. The optimal controller
can also handle planned disturbances in an efficient way.

We believe that the results presented here can be extended to more general graph
structures. More specifically for any graph with the structure of a directed tree both the
proof technique and the results could be extended. We plan to explore this in a future
publication.

A Appendix

The proof follows the structure of the proof idea. Before we start we restate the defini-
tion of m; which was mentioned in the proof idea.

(Zim + i M,’[l‘-d})
d=1

™=

my[t] =
i=1

Also, we let the product over an empty set be equal to one, e.g., H,-lzz gi=1.

The proof will derive the optimal inputs at time ¢+ = 0. As the problem has an
infinite horizon, one can freely shift the time, and the results will thus holds for all
t > 0. We begin by showing that each shifted level can be optimally distributed and
find the corresponding internal flows.

Lemma 1. The following holds
(i) Every shifted level Sy satisfies
Skt +or+1] =
k—17,—1

lt] 4 ult — ) +mi 1]+ Y Y Vil + 05 4-d) + Ve[t + 0%
i=1 d=0
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(ii) Let Y, be defined as in Algorithm 1. The optimization problem

k
minimize Z qizilt + o — 0;
3 h
i=1

]2
subject to S|t + o] = m,

has the solution z; = Y /qim and the optimum value is given by Yem?.

(iii) When u is chosen optimally, the cost for (2) is given by

w N N N-1 Oig o0

Y Yzl =Y qzl0P+ Y, Y wSiP+ Y wSwl]*

t=0i=1 i=0 i=1 t=0;+1 t=on+1

Also, the optimal u[0] is given by
et 0] = (1= 2 <el0] -2~ +l0] + 0]
Ve - Ye k—17—1 _
— ka[Gk] — f(mkfl[()] + Z Z V,'[Gi—l-d]).

qk dk i=1 d—0

Proof. For k =1 (i) reduces to the dynamics. Now assume that (i) holds for k — 1. It
follows from the definition of S that

Selt+0r+1] =z [t + 1]+ Se_1 [t + o+ 1]. 8)

It holds that
Sklt + 1] = Si[t] + Vi [t] + uk [t — o) — ], 9

since u;[t — 0; — ;] will cancel out for i < k. This allows S;_1 [t + 0} + 1] to be rewritten
as

Op Tp_1—1
Sicilt+ o+ 1] =Sicilt+ o1 + 1]+ Y. i [t +A]+ Y e [t—Al - (10)
A=0p_1+1 A=0
Using the induction assumption that (i) holds for £ — 1, (10) and the dynamics,
Zk[l‘ + 1] = Zk[t] — Uk [l‘] +uk[t — Tk] —I-vk[l‘] —‘rdk[l‘], (11)

allows (8) to be rewritten as

Skt + or + 1] = zg[t] — wie— 1 [t] + ug [t — 7] + vi[t] + di[2]

k—27—1
+ i1 [t] + w1 [t — Te1]) F 2 [t] + Z Z Vi[t + 0; 4+ d]
i=1 d=0
_ Oy _ T—1
F Vet + 0 1]+ Y Vica [t + A+ ) we [ — A
A:Gk,lJr] A=0

16



In the above it holds that

Tp_1—1
[t w1 [t = Te1] — w1 (1] 4+ Y w1 [t — A+ my_o[t] = my_ [7]
A=0
and
k—271—1
vt +di[l]+ Y Y Vilt+ 0i+d]+ Vi [t + 01y +ka 1[t+A]
i=1 d=0 A=op_1+1

HM\

Z l+0'z+d +Vk[l+0k]

And thus (i) holds for k as well.
For (ii) the proposed solution satisfies the constraint as

11

Sa %

If the proposed solution was not optimal then it would be possible to improve it by
increasing z; by epsilon and decreasing z; by epsilon for i, j < K as the problem is
convex. However

0
—qizilt+ 0k — 6;])> = 2y%m
9z
for z;[t + ox — 0i] = Y/qim and all i, and thus the proposed solution is optimal.

For (iii) note that the sum ) ;- Zﬁy: 1 9i%i [t]2 can be written in terms of shifted level
vectors as follows,

i Z%Zi[l]

t=0i=1
l N N—1 Gip1 i
Z‘Iizi +Z Z Z‘IJZ/ -0l +Z Zq/Z/ GJ - (12
i=0 i=1 t=0;+1 j= t=ony+1j=

The inner sums corresponds to the objective in (ii). From (i) it follows that Si[t], r <
041 is independent of u;t], V¢ > 0,V and that Sy[t] is independent of u;[t], Vz, .
Thus each shifted level sum in (12) is independent of the internal flows. Now consider
arbitrary, but fixed productions V and disturbances D. Then by (i) the sum of all shifted
levels are fixed. If there exists u so that each sum over shifted levels in (12) is the
optimal solution to the problem in (ii), then those inputs must be optimal for the given
V and D. By choosing u;_[t — 6; — 1] so that z;[t — 0;] is optimal for (ii) for 2 < j <i
gives that all z; [r— Gj] are optimally for 2 < j <i. However, since the constraint will
always be satisfied, z;[¢] will be optimal as well. Using (i), the optimal z;[1] from (ii)
is given by

k—17—1
/}/k 1

i) = - (ma 0]+ 0] + =] + 1, X Viloi+] + Vilo ).
i=1 A=0
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Inserting the dynamics in (11) into the LHS and solving for u;_ [0] gives the expression

in (iii). O
Now we will give the solution to the optimization problem which will arise in the

dynamic programming problem that will need to be solved in the next lemma.

Lemma 2. Let X; and g;(j) be defined as in Algorithm 1. Then

(i) Let j > 1. The optimization problem
minimize  X;(j+1)(a+b+x)* + yi(a+x)* + pix*
X

has minimizer

x= X (44 g1 1)m),

]

with optimum value X;(j) - (a+ g;(j+ 1)b)? + f(b).
(ii) The optimization problem
minimize  X;;(1)(a+b+x)> +¥(a+x)* + pix®
X

has minimizer
Xi(7i)

1

with optimum value X;(;) - (a+ gi+1(1)b)> + f(b).

(a+giv1(1)b),

xX=-

Proof. We will show that the optimization problem
minimize ¢y (a+b+x)* +ca(a+x)* +c3x®
X

has the solution

c1+¢ Ccl
xX=— (a b)
c1+cy+c3 crt+cp
and the minimal value is on the form
2
c3(cl +c¢ c
3(c1+c2) et —1 ) 4 ),
cita+a S )

where f(b) is independent of a. The lemma then follows by applying the above and
using the definition for X; and g; ().

There exits a unique solution as the problem is strictly convex. Differentiating the
objective function with respect to x gives that the optimal x is given by

1
x=——((c1+c2)a+c1b
c1+cy+cs ((1 2) ! )

from which the proposed x follows. The objective function can be rewritten as

cl (a+b)2 +crd? +2[(c1 +c2)a+cib)|x+ (c1+c2 +63)x2.

18



Inserting the minimizer gives

1

— ((c1+ca+c3)(ei(a+b)* +c2a®) —[(c) +c a+cb2).
ot (@ ratra) @) tod) (e teatal

The first term can be written as

(c1+e +C3)(c1(a—|—b)2 —l—czaz)
=(c1+c2+c3) [(cl + cz)a2 +2crab+ clbz]
= (e +cz)2a2 +2(cy +cz)c1ab+c%b2+

c3(ey —|—cz)a2 +2cic3ab+ (¢ + C3)C1b2.

Which gives that the objective function has the minimum value
1

2 2
——|c3(c1 +e)a” 4+ 2cicz3ab+ (e +¢ cb]
C1+62+C3[3(1 2) 1c3 (c2+c3)ct

The last term is independent of a. The dependence on a is thus given by

C3(Cl—|—C2) (a2+ 2c1 ab) . C3(C1+02) <a+ 1

cit+c+cs c1+c cit+cr+tcs c1+c

b)2+f(b)

O

Armed with the results from the previous lemma, we will now apply dynamic pro-
gramming to (2). We will show that the problem can be solved in terms of the shifted
levels Sy, shifted productions V; and shifted disturbances Dy. Outside of the horizon
the problem can be solved using the Riccati equation. Using the cost to go given by the
Riccati equation as initialization we can apply dynamic programming using the results

from the previous lemma.

Lemma 3. Let v, P, Xi, 8k, Uk be defined as in Algorithms 1 and 2. Let for 1 <k <

N—1land 1 <A< 1, andfork=Nand 1 <A< H+2

gk[A— 1] = mkfl[()] +Zk[0} +k lo-iii Vz[d]
1 d=o;

i

‘L'k*l d+1
+ Y (wl—(ze— )] +Diloc+a)) ] ()
d=0 j=AF1
O +A-2 Th

+ Y Vild) e [0lgin (1) [T &e()- (13)

d=ay J=A+1

Then the optimal Vi, for (2) is given by

Vilor+(A=1)] = -
The optimal individual productions are given by

wA—1] = I:—:Vk[ck—i- (A—1)].
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Proof. By Lemma 1-(i) and (9) each shifted inventory level Sg[o + A] with 1 < & < 1
satisfies

k—10;41—1 o +A-1
Si[ox+ Al =m 1 [0]+ 2 [0]+ ) Y, Vild +Zuk d+Y Vld. (14
i=1 d=o; d=1,—(A-1) d=oy,

By (iii) in Lemma 1 the cost can be rewritten as

o N N N—1 Oit]
Z Z iZi [t]z = ZQizz 2+ Z Z YiSilt] +ZYNSN
=0i=1 i=0 =1 =041 1=on+1

And similarly, by Lemma 1-(ii), the optimal cost for a shifted production V;[¢] is given
by p;Vi[t]* and individual productions are given by v;[t] = p;/r; - V;[t + &;]. This gives
the total production cost in terms of V; as

N—10i41—1

erlvl = Z Z piVi l + i pNVNM2

t=0i= i=1 t=0; t=0pn

We can thus solve the problem in terms of S; and V;, and then recover the optimal
v;. To that end define the costto go for | <k <N—land 1 <A< 1,

Of+1 =1 Oyl

LAl = ) (}’kSkH + piVilt — 1] )+ Z Z(%z +piVi [ffl])

t=0}+A i=k+10;+1

- Z (yNSN +pNVN[t—1}2).

t=on+1

Andfork=Nand A > 1

=)

A= Y (yNSNmZ + Vit — 1]2).

t=0on+A

We will show for 1 <k<N—1land1 <A<rt,andfork=Nand 1 <A <H +2, that

Ti[A] = X (A)&[A— 117 + £ (D), (15)

where f(b) is independent of Vi[t]. f(b) can thus be ignored in the optimization of
Vi m

Using Lemma 1-(i) combined with (9) and that all Dy[t] =0 for 7 > H 4 oy it
follows that the optimal Vy[¢] for ¢ > oy + H is given by the solution to the problem

oo

minimize Y wSwy [1)? + pnViv[]?
Vi li] t=0y+H+1

subjectto  Sy[r+ 1] = Sy[t] + Vi |1]

N—10;11—1 oN+H
Svloy+H+1]=my[0]+ Y Y Vi[8]+). Vn[5]

i=1 §=0; d=op
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This is a standard LQR problem and the solution can be found by solving the following
Riccati equation

X=X-X2/( pN+X)+yN:>X_%

,),2
+ 1/ Wpn + ZN.

Now let Xy (H +2) = X — 1. Then I'y[oy + H +2] is given by
Ty[oy +H +2] = Sy[oy +H + 112Xy (H +2).

Note that the cost for Si[oy + H + 1] is not part of I'y[oy + H + 2], but it is part of the
cost to go given by the solution X to the Riccati equation. Furthermore, the optimal
Vn|t] for t = oy + H + 1 is given by

X Xv(H+1)+ Xy(H
Wl = sl = e DI gy K g
X+pn Xy(HA+1)+w+pN PN
For A= H +2 and k = N the expression for §[A — 1] reduces to
—10i41— 1 UN+H_
Ev[H+1] = +Z Y Vid+ ) Wl
i=1 d=o; d=opy

as y+1 =0, uy =0and Dy[t] =0fort > oy +H. By (14) Ey[H + 1] = Sy[oy + H + 1]
and thus the lemma and (15) holds for k=N and A = H + 2.

Assume that (15) holds for k+ 1 and A = 1. Then the optimal V;[oy 1 — 1] is given
by the minimizer for

Te[t] = Ter [1]+ %Sk [0 + prVi[ Oy — 117
Using the assumption for the cost to go in (15) gives that Ty 1 [1] = X;41(1)&1]0]?

and thus the optimal Vi [0y, 1 — 1] is given by the optimal value for the problem

minimize  Xi1(1)&1[0]% + %Sk[Oks1)* + piVi[ors1 — 1]°.
Vi[O +1—1]

For A =1 (13) reduces to

k—10j41—1

&[0] =m1[0]4+ )., Y. Vild]+ [0 (16)

i=1 d=o;
as

e[0] = 7 [0] + tit18k+1(1) Iﬁgk(j)

and T — 1 d+1
0] = z[0] + Z (uk (%—d ]+Dk[0k+d]) [Te(h)
j=2
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We also note that by (14), as 6| = O + T,
k Oir1— 1
Selok] =m0]+ ). Y, Vild
i=1 d=o;
Applying Lemma 2-(ii) with
a = Sk[0k+1] = Vi[Ok1 — 1]

b = & 11[0] — Sk[Ck+1] = tx41[0]
x = Vi[or1 — 1],

gives that the lemma and (15) hold for k and A = 7; as

—10j41—1 O+ T —
Sl —1] = +Z Y Vid+ ) Vk ]+ Mt 1[0]ga+1 (1)
i=1 d=o; d=oy

Assume that (15) holds for some k and A+ 1, where 1 <A< t1;—1if k <N and
1 <A<H+1ifk=N. Then Vi[oy + A — 1] can be found as the minimizer for

minimize  Xi(A+ 1)E[A]? + 1Sk o + A]> + peVi[or +A— 12
Vilog+A—1]

Using that two of the terms in (14) can be rewritten as

Tk G/{+A71 A—1 G[ka*l
Yul-dl+ Y Vild = Y. (ul-(%—d)+Diloi+d]) + ¥ Veld]
d=1—(A—-1) d=oy d=0 d=oy

and with x = Vi[ox + A — 1], a = Sk[ox + A] — Vi [0k + A — 1], which equals

—104+1—1

a=my_1[0] +z[0] + Z Y v
i=1 d=o;
A—1 O'k+A72
+ Z (uk[f(‘ck —d)|+ Di[+o0y er]) + Z Vi[d]
d=0 d=o,

and b = & [A] — Si[o) + A}, which gives

T —1 d+1 Tk

b= Z(uk (te—d +Dkffk+d>ngk e [0gea (1) TT &(h)-
J=A+2 j=A+2

By applying Lemma 2-(i) it follows that (15) and the lemma holds for k and A as well.
Thus the lemma holds forall 1 <A<t forl <k<N-1land 1 <A<H-+2 for
k=N. O

All that remains now is to find expressions for Vi[oy] in terms of the initial condi-
tions. The following lemma allows us to do so, using the expressions for V; derived in
the previous lemma.
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Lemma 4. Let hy, Pi(i, j), ox(A), m[0], 1[0], Dx[0], and 8[0] be defined as in Algo-
rithms I and 2. Then fork <N — 1

||M»

Z — hyedyey1[0] (17)

Proof. Let Bk[O] = Zk[()] + Ltk[—fk] + Dk[Gk] and Bk[i] = uk[—(Tk — l)] + Dk[(Fk + i} for
1 <i < 7. We will prove the lemma by showing that for 1 <A < 7

—106i41—-1 or+A—1
mi_1]0 +Z Z V 1+ Z Vild] =
i=1 d=o; d=oy,
(1—Pe(A, 1)1 [0] — [hkflbk(l_P(A 1))+ Pe(A,A)gk+1(1 Hgk ]Hk+1
J=A+1
o1 d+1 d+1
= X Bild)|pamin(d+1.8) [ (i) +(1-RA Dk [T a8)
oA+ j=

More specifically we will show that
1. (18) holds fork=1and A= 1.
2. If (18) holds for some k and A — 1 then it holds for A as well.
3. If (17) holds for k — 1 then (18) holds for k and A = 1.
4. If (18) holds for k and A = 7, then (17) holds for k.

For k =1 and A = 1 the LHS of (18) is just V;[t]. The RHS of (18) equals
=Xi1(1)/p1 - (0] as P (1,m) = X;(1)/p1, & =0, and hyp = 0. And by Lemma 3
the RHS is also equal to V;[t] since by (16)

&1[0] = w[0].

Thus (18) holds fork=1and A = 1.
Applying Lemma 3 on Vi[o; + A for the LHS of (18) gives:

k71(7,+1—1 _ Gk-‘rA—l
my—1[0] + Vildl+ ), Vild] =
i=1 d=6,‘ d=0k
X, (A —10;41—1 o +A-2
(- %dd), ) (110 LYY T Y Vild))
Pk i=1 d=o; d=0}
X A kal d+1 ) Tk )
AT g TT sl + O () T s0)] (19
P a0 j=AT1 j=A+1
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Now assume that (18) holds for k and A — 1, we then show that (18) holds for k and
A. Using (19) gives for the coefficients for the different terms of the LHS for (18) as
follows. For &;_[0] we get
Xi(A)
Pk

(1- )(1—P(A—1,1)) = 1—P(A,1).

For the terms in front of ty.1[0] we get

_(1_X"p(kA)>(hk_lbk(l—P(A—l,l))+Pk(A—l A—1)gk+1(1 Hgk )
X (A) * .
v gk+1(1)j:AI—[+]gk(J)

Ty

= —h_1b (1= P(A, 1)) = Pe(A,A)gern (1) [T g,

J=A+1
and for the coefficient for B[d],
X. (A ) d+1
—0 -2 T4 tmin(a +1,8- 1) TTasli)+
Pk j=A
dl oy (A) 4t .
(1=na—1 0 TTa)] =22 T s
j=2 Pk jZati
d+1 d+1
= —P(Amin(d+1,A)) Y g(j)—(1—=P(A 1)1 [] & ()
Jj=A+1 Jj=2

Thus (18) holds for k and 6 as well.
Assume that (17) holds for k — 1. Then we can show that (18) holds for kand A= 1.

Using that
71 d+1

mlol= ¥ (Bl [Je)). (20)

d=0
the RHS of (18) reduces to

(1= Pe(1,1)] 81 0] = [g—1 (1 = Pi(1, 1)) + Pe(1, 1)] ([0] + bbty1 0]).

Using (19) with A = 1, the definition for P, (1, 1), and inserting (17) gives that the LHS
of (18) is equal to
T—1 d+1
(1 *Pk(l,l))[(sk—ﬂo] — 1[0 } P (1,1) [ Z Bld) [ ] gx(j) + 1 [0]b }

d=0 J=A+1

Using (20) and the definition for ;[0] = m;[0] + by fle+1[0] shows that the RHS and
LHS are equal. And thus (18) hold for k and A = 1 if (17) holds for k — 1.
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Finally, we will show that if (18) holds for k and A = 7; then (17) holds for k. Using
the definition for /; the RHS of (18) reduces to

(1= Pe(T, 1)) 81 [0] + Ay g1 [0]
d+1

- ZBk [Pk (ti,d + 1)+ (1= Pe(T, D1 Hgk(j)}
i=d Jj=2
For A = 7} the LHS of (17) is equal to the LHS of (18) plus
Tk Opy1—1 71
0+ ) wl[-dl+ Y Didl=Y Bid
d=1 d=0y, d=0
Thus it holds that the LHS of (17) is equal to
(1= Pe( Tk 1)) 81 [0] + Atz [0]
d+1
+ ZBk [ (1=Pu(t,d+1)) = (1 = P( T, 1) 1) Hgk(j)}-
=2

Using the definition for ¢;(A) in Algorithm 1 and ®; and & in Algorithm 2 shows that
(18) gives (17) for A = 1, as

d+1

ZBk [ 1= P, d+1)) — (1= P, 1)l 1) Hgk(j)] = d[0].
=2

O

We are now finally ready to prove the theorem, which follows from the previous
lemmas.
Proof of Theorem I: Lemma 3 with A = 1 and Lemma 4 gives that

X, (1 —10i41— 1
Vilow] = — ];)(k){mkl +Z Y, Vild]+ w0 }
i=1 d=o; 1)
Xi(1)

- [5k_1[0]+(1—hk)uk[0ﬂ

from which the optimal v, [0] = pi /7 - Vi [0x] as in Algorithm 2 follows. Using Lemma 1-

(iii), Lemma 4, and that v¢[0] = pi/r¢ - Vi[0k] gives that

e 1[0] = (1= 2 (2 1] + e[~ 7] + De[0]) + i [0] — D [0]

9k
+ Vi[o] (I:]]: 3;;) - % (5k—1[0] *hk—lﬂk[o])

Inserting (21) gives that the optimal u is as in Algorithm 2.
The results will hold for # # 0 as the problem has an infinite horizon and one can
always change the variables so that current time is time zero. U
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